
1
2

C44

3

G11

G9

A17

C52
C27

A82

C23

C22

H77

C21

Rev. Description Date Cad/Eng

Item# Qty Description MATERIAL

1 1 LEFT LEG WOOD
2 1 RIGHT LEG WOOD
3 1 HEADBOARD SUP RAIL WOOD

A17 1 (A17) PLASTIC 6" WIRE CABLE TIE METAL
A82 4 (A82) LED SUPPORT PIN CLIP PLASTIC
C21 1 (C21) LED POWER SOURCE PLASTIC/METAL
C22 1 (C22) LED TOUCH JUNCTION BOX PLASTIC/METAL
C23 2 (C23) LED TOUCH CABLE LEAD 950 PLASTIC/METAL
C27 1 (C27) LED LIGHT STRIP 1400 PLASTIC/METAL
C44 2 (C44) MITERED BEDPOST BRACKET METAL
C52 8 (C52) 8 X 7/8 WH SCREW METAL
G11 2 (G11) 1/4-20 X 1 1/8 CARRIAGE BOLT METAL
G9 2 (G9) 1/4-20 SERRATED FLANGE NUT METAL
H77 3 (H77) 8 X 5/8 PH SCREW METAL

Dwg#:

Date:

Desc:

TOLERANCES ARE:
     METRIC------------- +.5 / -.5mm

     DECIMAL---------------- 0 / -.005"
     FRACTIONAL----------- +0/ -1/32"

(UNLESS OTHERWISE SPECIFIED)

Furniture Industries Inc.


Scale: 1:10

Headboard CS

6/8/2017

34917


	Sheet1
	Drawing View1


